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1 Introduction

1.1 Objectives
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2 Unit test case specification
2.1  Test case specification identifier
<Table 1 : Test Design Identification>
Identifier Feature(Process DFD) Valid / Invalid value
Card_Data Input : 200001014211,8,1,966900,0_30
200001014311,B,0,966900,0_31
TEAM1_PTS_0_.000_000 | 2.1.1.1.1 Calculator Selector .
Terminal_Data_Input : 200001014211,8,1,0,0_30
200001014311,B,0,0,0_31
Card_Data Input : 200001015011,8,1,963750,0_36
200001015111,B,0,963750,0_37
TEAM1_PTS_0_000_001 | 2.1.1.1.1 Calculator Selector .
Terminal_Data Input : 200001015011,8,1,1050,0_36
200001015111,B8,0,0,0_37
Card_Data Input : 200001011111,T,0,983200,0_8
200001011111,T,1,982150,0 9
TEAM1_PTS_0_000_002 | 2.1.1.1.1 Calculator Selector )
Terminal_Data Input : 200001010411,8,0,0,0_46
200001010511,M1,0,1_63
TEAM1_PTS_0_000_003 | 2.11.1.1 Calculator Selector Card_Data Input : 200001014611,8,0,966900,0_31
[HAE Q=) Team 1 3
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200001014711,B,1,965850,0_32
Terminal_Data Input : 200001014611,8,0,0,0_31
200001014711,8,1,1050,0_32

TEAM1_PTS_0_000_004

2.1.1.1.1

Calculator Selector

Card_Data Input : 200001015111,B,0,963750,0_37
200001015211,B,1,962700,0_38

Terminal_Data Input : 200001015111,8,0,0,0_37
200001015211,B,1,1050,0_38

TEAM1_PTS_0_000_005

2.1.1.11

Calculator Selector

Card_Data Input : 200001015211,8,1,962700,0_38
200001015311,B,0,962700,0_39

Terminal_Data Input : 200001015211,B,1,1050,0_38
200001015311,8,0,0,0_39

TEAM1_PTS_0_000_006

2.1.1.11

Calculator Selector

Card_Data Input : 200001010011,8,1,959300,0_43
200001010111,B,0,959300,0_44

Terminal_Data Input : 200001010011,B,1,0,0.43
200001010111,8,0,0,0.44

TEAM1_PTS_0_000_007

2.1.1.1.1

Calculator Selector

Card_Data Input : 200001015511,8,0,961400,0_42
200001015611,M,1,961400,1_56

Terminal_Data Input : 200001015611,8,0,0,0.42
200001015711,M0,0,1_57

TEAM1_PTS_0_000_008

2.1.1.11

Calculator Selector

Card_Data Input : 200001010411,B,0,958600,0_46
200001010511,M,1,958600,1_63

Terminal_Data Input : 200001010411,B,0,0,0.46
200001010511,M1,0,1_63

TEAM1_PTS_0_000_009

2.1.1.1.1

Calculator Selector

Card_Data Input : 200001010911,M,1,956850,1_66
200001011011,M,0,956850,1_67

Terminal_Data Input : 200001010911,M1,0,1_66
200001011011,M0,0,1_67

TEAM1_PTS_0_000_010

2.1.1.11

Calculator Selector

Card_Data Input : 200001011211,M,1,955800,1_68
200001011311,M,0,955200,3_1

Terminal_Data Input : 200001011211,M1,0,1_68
200001011311,M0,600,3_1

TEAM1_PTS_0_000_011

2.1.1.11

Calculator Selector

Card_Data Input : 200001011011,M0,956850,1_67
200001011111,B,1,956850,0_53

Terminal_Data Input : 200001011011,M0,0,1_67
200001011111,B,1,00.53

TEAM1_PTS_0_000_012

2.1.1.1.1

Calculator Selector

Card_Data Input : 200001011311,M0,955200,3_1
200001011411,B,1,955200,0_57

Terminal_Data Input : 200001011311,M0,600,3_1
200001011411,B,1,00_57

TEAM1_PTS_0_000_013

2.1.1.11

Calculator Selector

Card_Data Input : 200001011511,M,1,955200,1_69
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200001011611,M,0,955200,1_70
Terminal_Data Input : 200001011511,M1,0,1_69
200001011611,M,0,0,1_70

TEAM1_PTS_0_000_014

2.1.1.1.1 Calculator Selector

Card_Data Input : 200001011511,M,1,954150,1_71
200001011711,M0,954149,2 2

Terminal_Data Input : 200001011511,M1,1050,1_71
200001011711,M0,1,2 2

TEAM1_PTS_0_000_015

2.1.1.1.1 Calculator Selector

Card_Data Input : 200001012111,M,0,9525004_2
200001013111,M1,951450,1_74

Terminal_Data Input : 200001012111,M0,6004_2
200001013111,M1,1050,1_74

TEAM1_PTS_0_000_016

2.1.1.1.1 Calculator Selector

Card_Data Input : 200001014111,M,0,9508504_3
200001015111,M,1,949800,1_75

Terminal_Data Input : 200001014111,M0,6004_3
200001015111,M1,1050,1_75

TEAM1_PTS_0_000_017

2.1.1.1.1 Calculator Selector

Card_Data Input : 200001012111,M,0,949600,2 2
200001012211,M1,948550,2_3

Terminal_Data Input : 200001012111,M0,200,2_2
200001012211,M1,1050,2_3

TEAM1_PTS_0_000_018

2.1.1.1.1 Calculator Selector

Card_Data Input : 200001012111,B,1,947850,0_59
200001012211,M1,947250,1_76

Terminal_Data Input : 200001012111,B,1,700,0_59
200001012211,M1,600,1_76

TEAM1_PTS_0_000_019

2.1.1.1.1 Calculator Selector

Card_Data Input : 200001012111,M,1,948550,2_3
200001012111,B,1,947850,0_59

Terminal_Data Input : 200001012111,M1,1050,2_3
200001012111,B,1,700,0_59

TEAM1_PTS_0_000_020

2.1.1.1.1 Calculator Selector

Card_Data Input : 200001012111,M1,947250,1_76
200001015111,B,1,946550,0_60

Terminal_Data Input : 200001012111,M1,600,1_76
200001015111,B,1,700,0_60

TEAM1_PTS_0_001_000

2.1.1.2 Cal_Bus_On_Standard

Data Input : ecdonboard = 0 ecdbalance = 10000,
ecd.Terminal_ID = 0, ecdtimel = 200001011115, ecd.time2 =
200001011111, ecd.c_time = 200001011530, ecd transportation
= B, ecdtransportation1 = B, ecd.count = 5, etd.transportation
= B, etd.Terminal_ID = 0, etd.count = 1

TEAM1_PTS_0_001_001

2.1.1.2 Cal_Bus_On_Standard

Data Input : ecdonboard = 0, ecdbalance = 10000,
ecd.Terminal_ID = 0, ecd.time1 = 200001011115, ecd.time2 =
200001011111, ecd.c_time = 201002011530, ecd transportation

= B, ecd.transportation1 = B, ecd.count = 5, etd.transportation

Team 1
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= B, etd.Terminal_ID = 0, etd.count = 1

TEAM1_PTS_0_002_000

2.1.1.3 Cal_Bus_On_Transfer

Data Input : ecdonboard = 0 ecdbalance = 8000,
ecd.Terminal_ID = 3, ecdtimel = 200001011115, ecdtime2 =
200001011111, ecd.c_time = 200001011530, ecd transportation
= M ecdtransportation = M, ecdcount = 4,

etd.transportation = B, etd.Terminal_ID = 0, etd.count = 1

TEAM1_PTS_0_003_000

2.1.1.4 Cal_Bus_On_Unchecked

Data Input : ecdonboard = 0 ecdbalance = 10000,
ecd.Terminal_ID = 3, ecdtimel = 200001011115, ecd.time2 =
200001011111, ecd.c_time = 200001021530, ecd transportation
= B, ecdtransportation = M, ecd.count = 5, etd transportation

= B, etdTerminal_ID = 0, etd.count = 1

TEAM1_PTS_0_003_001

2.1.1.4 Cal_Bus_On_Unchecked

Data Input : ecdonboard = 0 ecdbalance = 10000,
ecd.Terminal_ID = 3, ecdtimel = 200001011115, ecd.time2 =
200001011111, ecd.c_time = 200001011530, ecd transportation
= M ecdtransportation = M, ecdcount = 5,

etd.transportation = B, etd.Terminal_ID = 0, etd.count = 1

TEAM1_PTS_0_004_000

2.1.1.5 Cal_Metro_On_Standard

Data Input : ecdonboard = 0 ecdbalance = 10000,
ecd.Terminal_ID = 3, ecdtimel = 200001011115, ecdtime2 =
200001011111, ecd.c_time = 200001011530, ecd transportation
= M ecdtransportaton = M ecdcount = 5

etd transportation = M, etd.Terminal_ID = 1, etd.count = 1

TEAM1_PTS_0_005_000

2.1.1.6 Cal_Metro_On_Transfer

Data Input : ecdonboard = 0 ecdbalance = 10000,
ecd.Terminal_ID = 3, ecdtimel = 200001011115, ecd.time2 =
200001011111, ecd.c_time = 200001011530, ecd,transportation
= B, ecdtransportation1 = B, ecd.count = 5, etdtransportation
=M, etdTerminal_ID = 1, etd.count = 1

TEAM1_PTS_0_006_000

2.1.1.7 Cal_Metro_On_Unchecked

Data Input : ecdonboard = 0 ecdbalance = 10000,
ecd.Terminal_ID = 3, ecdtimel = 200001011115, ecd.time2 =
200001011111, ecd.c_time = 200001021530, ecd,transportation
= B, ecdtransportation1 = B, ecd.count = 5, etd transportation
=M, etd.Terminal_ID = 0, etd.count = 1

TEAM1_PTS_0_006_001

2.1.1.7 Cal_Metro_On_Unchecked

Data Input : ecdonboard = 0 ecdbalance = 10000,
ecd.Terminal_ID = 3, ecdtimel = 200001011115, ecd.time2 =
200001011111, ecd.c_time = 200001011530, ecd transportation
= B, ecditransportation1 = B, ecd.count = 5, etd.transportation
=M, etd.Terminal_ID = 0, etd.count = 1

TEAM1_PTS_0_007_000

2.1.1.8 Cal_Bus_Off_Standard

Data Input : ecdonboard = 1, ecdbalance = 10000,
ecd.Terminal_ID = 0, ecdtime1 = 200001011115, ecdtime2 =
200001011111, ecd.c_time = 200001011530, ecd transportation
= B, ecdtransportation = M, ecd.count = 5, etd transportation
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= B, etdTerminal_ID = 0, etd.count = 1

TEAM1_PTS_0_008_000

2.1.1.9 Cal_Bus_Off_Transfer

Data Input : ecdonboard = 1, ecdbalance = 10000,
ecd.Terminal_ID = 3, ecdtimel = 200001010100, ecd.time2 =
200001010000, ecd.c_time = 200001012359, ecd transportation
= B, ecdtransportation = M, ecd.count = 5, etd transportation

= B, etd.Terminal_ID = 0, etd.count = 1

TEAM1_PTS_0_008_001

2.1.1.9 Cal_Bus_Off_Transfer

Data Input : ecdonboard = 1, ecdbalance = 10000,
ecd.Terminal_ID = 3, ecdtimel = 200001010400, ecd.time2 =
200001010000, ecd.c_time = 200001012359, ecd transportation
= B, ecdtransportation = M, ecd.count = 5, etd transportation

= B, etdTerminal_ID = 0, etd.count = 1

TEAM1_PTS_0_008_002

2.1.1.9 Cal_Bus_Off_Transfer

Data Input : ecdonboard = 1, ecdbalance = 10000,
ecd.Terminal_ID = 3, ecdtimel = 200001010800, ecd.time2 =
200001010000, ecd.c_time = 200001012359, ecd transportation
= B, ecdtransportation1 = M, ecd.count = 5, etd.transportation

= B, etd.Terminal_ID = 0, etd.count = 1

TEAM1_PTS_0_008_003

2.1.1.9 Cal_Bus_Off_Transfer

Data Input : ecdonboard = 1, ecdbalance = 10000,
ecd.Terminal_ID = 3, ecdtimel = 200001012300, ecd.time2 =
200001010000, ecd.c_time = 200001012359, ecd transportation
= B, ecd.transportation1 = M, ecd.count = 5, etd transportation

= B, etd.Terminal_ID = 0, etd.count = 1

TEAM1_PTS_0_009_000

2.1.1.10 Cal_Metro_Off_Standard

Data Input : ecdonboard = 1, ecdbalance = 10000,
ecd.Terminal_ID = 4, ecd.timel = 200001011115, ecd.time2 =
200001011111, ecd.c_time = 200001011530, ecd transportation
= M ecdtransportaton = M ecdcount = 5

etd.transportation = M, etd.Terminal_ID = 3, etd.count = 1

TEAM1_PTS_0_009_001

2.1.1.10 Cal_Metro_Off_Standard

Data Input : ecdonboard = 1, ecdbalance = 10000,
ecd.Terminal_ID = 4, ecdtimel = 200001011115, ecd.time2 =
200001011111, ecd.c_time = 200001011530, ecd,transportation
= M ecdtransportation = M, ecdcount = 5,

etd.transportation = M, etd.Terminal_ID = 2, etd.count = 1

TEAM1_PTS_0_009_002

2.1.1.10 Cal_Metro_Off_Standard

Data Input : ecdonboard = 1, ecdbalance = 10000,
ecd.Terminal_ID = 4, ecdtimel = 200001011115, ecd.time2 =
200001011111, ecd.c_time = 200001011530, ecd transportation
= M ecdtransportation = M, ecdcount = 5,

etd transportation = M, etd.Terminal_ID = 1, etd.count = 1

TEAM1_PTS_0_010_000

2.1.1.11 Cal_Metro_Off_Transfer

Data Input : ecdonboard = 1, ecdbalance = 10000,
ecd.Terminal_ID = 1, ecdtimel = 200001010100, ecd.time2 =
200001010000, ecd.c_time = 200001012359, ecd transportation

= M ecdtransportation1 = B, ecd.count = 5, etd.transportation

Team 1
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= B, etdTerminal_ID = 0, etd.count = 1

Data Input : ecdonboard = 1, ecdbalance = 10000,
ecd.Terminal_ID = 2, ecdtimel = 200001010100, ecd.time2 =
TEAM1_PTS_0_010_001 2.1.1.11 Cal_Metro_Off_Transfer 200001010000, ecd.c_time = 200001012359, ecd transportation
= M ecdtransportation1 = B, ecd.count = 5, etd.transportation

= B, etd.Terminal_ID = 0, etd.count = 1

Data Input : ecdonboard = 1, ecdbalance = 10000,
ecd.Terminal_ID = 3, ecdtimel = 200001010100, ecd.time2 =
TEAM1_PTS_0_010_002 | 2.1.1.11 Cal_Metro_Off Transfer 200001010000, ecd.c_time = 200001012359, ecd transportation
= M, ecdtransportation1 = B, ecd.count = 5, etd transportation

= B, etdTerminal_ID = 0, etd.count = 1

Data Input : ecdonboard = 1, ecdbalance = 10000,
ecd.Terminal_ID = 4, ecdtimel = 200001010100, ecd.time2 =
TEAM1_PTS_0_010_003 | 2.1.1.11 Cal_Metro_Off Transfer 200001010000, ecd.c_time = 200001012359, ecd transportation
= M ecdtransportation1 = B, ecd.count = 5, etd.transportation

= B, etd.Terminal_ID = 0, etd.count = 1

TEAM1_PTS_0_011_000 | 2.1.2 Controller Data Input : hour == 0 && minute ==
TEAM1_PTS_0_011_001 2.1.2 Controller Data Input : hour == 0 && minute != 0
TEAM1_PTS_0_011_002 | 2.1.2 Controller Data Input : hour != 0 && minute == 0
TEAM1_PTS_0_011_003 2.1.2 Controller Data Input : hour != 0 && minute != 0
TEAM1_PTS_0_011_004 | 2.1.2 Controller Data Input : cd.Calculated_Balance = 3000
TEAM1_PTS_0_011_005 | 2.1.2 Controller Data Input : cd.Calculated_Balance = -1000
TEAM1_PTS_0_012_000 | 213 Check Settlement Data Input : ‘g4t 22| QUCHE oHY =X
TEAM1_PTS_0_012_001 | 2.1.3 Check Settlement Data Input : ‘g4t A2 E|QICHE MY EXHX| LS
Data Input  :  cd.time = 201411210500,
TEAM1_PTS_0_013_000 | 2.1.4 Terminal Record cd.transportation = B, cd.on_board = 1, cd.fee = 500,

cd.Terminal_ID = 0, cd.count = 2

Data Input :  cd.time = 201411210530,
TEAM1_PTS_0_013_001 2.1.4 Terminal Record cd.transportation = M, cd.on_board = 0, cd.fee = 500,

cd.Terminal_ID = 3, cd.count = 1

TEAM1_PTS_0_014_000 | 2.1.6 Print Result Data Input : cd.fee = 100, cd.Calculated_Balance = 500
TEAM1_PTS_0_014_001 2.1.6 Print Result Data Input : cd.fee = 200, cd.Calculated_Balance = -100
TEAM1_PTS_0.015.000 | 2.1.7 Print Warning Data Input : cd.fee = 250, cd.Calculated_Balance = 400
TEAM1_PTS_0_015_001 2.1.7 Print Warning Data Input : cd.fee = 300, cd.Calculated_Balance = -200
TEAM1_PTS_0_016_000 | 2.1.8 Check Card Data Input : cd.fee = 700, cd.Calculated_Balance = 0
TEAM1_PTS_0_016_001 2.1.8 Check Card Data Input : cd.fee = 150, cd.Calculated_Balance = -50

TEAM1_PTS_1.000_000 | 2.1 Time_Checker time = "201411200000" Input

[HIAE =) Team 1 8
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TEAM1_PTS_1_000_001

2.1 Time_Checker

time

“201411200100" Input

TEAM1_PTS_1_000_002

2.1 Time_Checker

time = "201411200008" Input

TEAM1_PTS_1_000_003

2.1 Time_Checker

time = "201411200108" Input

TEAM1_PTS_1_002_000

2.3 Settlement_Starting_Process

TEAM1_PTS_1_001_000 | 2.2 Wait Enable Input

TEAMT_PTS_1.001_001 | 2.2 Wait Disable Input
trigger,
Stack ED={

201411200008, M, 1, 1050
201411200124, M, 0, 400
201411200400, B, 1, 1050
201411200440, B, 0, 0
201411200600, B, 1, 1050
201411200800, B, 0, 0 } Input

TEAM1_PTS_1_002_001

2.3 Settlement_Starting_Process

trigger ,

Stack ED={

201411200008, M, 1, 1050
201411200124, M, 0, 400
201411200400, B, 1, 1050
201411200440, B, 0, 0
201411200504, M, 1, 0
201411200600, M, 0, 300} Input

TEAM1_PTS_1_002_002

2.3 Settlement_Starting_Process

trigger ,

Stack ED={

201411200400, B, 1, 1050
201411200440, B, 0, 0
201411200504, M, 1, 0
201411200600, M, 0, 300
201411200640, B, 1, 0
201411201448, B, 0, 200} Input

TEAM1_PTS_1_002_003

2.3 Settlement_Starting_Process

trigger ,

Stack ED={ 201411200016, M, 1, 1050
201411200040, M, 0, 200
201411200232, B, 1, 0

201411201224, B, 0, 200
201411201400, M, 1, 0
201411201408, M, 0, 600
201411201416, B, 1, 0

201411201824, B, 0, 200} Input

TEAM1_PTS_1_002_004

2.3 Settlement_Starting_Process

trigger ,

Stack ED={

201411200016, B, 1, 1050
201411200216, B, 0,0
201411200616, B, 1, 1050
201411200624, B, 0, 0
201411200632, B, 1, 1050
201411200640, B, 0, O} Input

TEAM1_PTS_1_002_005

2.3 Settlement_Starting_Process

trigger ,
Stack ED={
201411200016, M, 1, 1050

[E-II A E
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201411200216, M, 0,0
201411200616, M, 1, 1050
201411200624, M, 0, 0
201411200632, M, 1, 1050
201411200640, M, 0, 0} Input

TEAM1_PTS_1_002_006

2.3 Settlement_Starting_Process

trigger ,

Stack ED={

201411200008, M, 1, 1050
201411200124, M, 0, 400
201411200400, B, 1, 1050
201411200440, B, 0, 0
201411200504, M, 1, 0} Input

TEAM1_PTS_1_002_007

2.3 Settlement_Starting_Process

trigger,

Stack ED={

201411200400, B, 1, 1050
201411200440, B, 0, 0
201411200504, M, 1, 0
201411200600, M, 0, 300
201411200640, B, 1, 0} Input

TEAM1_PTS_1_002_008

2.3 Settlement_Starting_Process

trigger ,

Stack ED={

201411200016, M, 1, 1050
201411200040, M, 0, 200
201411200232, B, 1,0
201411201224, B, 0 200
201411201400, M, 1, 0
201411201408, M, 0, 600
201411201416, B, 1, O} Input

TEAM1_PTS_1_002_009

2.3 Settlement_Starting_Process

trigger,

Stack ED={

201411201010, M, 1, 1050
201411201020, B, 1, 1750
201411201030, B, 0, O} Input

TEAM1_PTS_1_002_010

2.3 Settlement_Starting_Process

trigger ,

Stack ED={

201411201010, M, 1, 1050
201411201020, B, 1, 1750
201411201030, M, 1, 1750
201411201040, M, 0, O} Input

TEAM1_PTS_1_002_011

2.3 Settlement_Starting_Process

trigger ,

Stack ED={

201411201010, M, 1, 1050
201411201020, B, 1, 1750
201411201030, M, 1, 1750
201411201040, B, 1, 1750
201411201050, B, 0, 0 } Input

TEAM1_PTS_1_002_012

2.3 Settlement_Starting_Process

trigger ,

Stack ED={
201411201010, M, 1, 1050
201411201020, B, 1, 1750
201411201030, B, 0, 0
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201411201050, M, 1, 0
201411201058, M, 0, 300} Input

TEAM1_PTS_1_002_013

2.3 Settlement_Starting_Process

trigger ,

Stack ED={

201411201010, M, 1, 1050
201411201020, B, 1, 1750
201411201030, M, 1, 1750
201411201040, M, 0, 300
201411201100, B, 1, 0
201411201130, B, 0, O} Input

TEAM1_PTS_1_002_014

2.3 Settlement_Starting_Process

trigger ,

Stack ED={

201411201000, M, 1, 1050
201411201030, M, 0, 400
201411201100, B, 1, 0
201411201200, M, 1, 1750} Input

2.2 Test items

<Table 2 : Test Case ldentification>

Test case Identifier

Input Specification

Output Specification

TEAM1_PTS_0_000_000

Card_Data Input :
200001014211,B,1,966900,0_30
200001014311,8,0,966900,0_31

Terminal_Data_Input : 200001014211,B,1,0,0_30

200001014311,8,00,0_31

Cal_Bus_On_Standard() A&

TEAM1_PTS_0_000_001

Card _Data Input :
200001015011,B,1,963750,0_36
200001015111,8,0963750,0 37
Terminal_Data Input :
200001015011,B,1,1050,0_36
200001015111,8,00,0 37

Cal_Bus_On_Standard() A&t

TEAM1_PTS_0_000_002

Card Data Input : 200001011111,T,0983200,0_8

200001011111,7,1,982150,0.9

Terminal_Data Input : 200001010411,B,0,0,0_46

200001010511,M1,0,1_63

TEAM1_PTS_0_000_003

Card_Data Input :
200001014611,8,0,966900,0_31
200001014711,B,1,965850,0_32

Terminal_Data Input : 200001014611,B,0,0,0_31

200001014711,8,1,1050,0_32

Cal_Bus_Off Standard() &

TEAM1_PTS_0_000_004

Card _Data Input :
200001015111,8,0,963750,0_37
200001015211,B,1,962700,0_38

Cal_Bus_Off Standard() A3

[E-II A E
L=
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Terminal_Data Input : 200001015111,8,0,0,0_37
200001015211,B,1,1050,0_38

Card Data Input :
200001015211,B,1,962700,0_38
200001015311,8,0,962700,0_39
TEAM1_PTS_0_000_005 ] Cal_Metro_On_transfer()
Terminal_Data Input :
200001015211,B8,1,1050,0_38

200001015311,8,0,00_39

=
0%

Card Data Input :
200001010011,B,1,959300,0_43
TEAM1_PTS_0_000_006 | 200001010111,8,0959300,0 44 Cal_Metro_On_transfer()
Terminal_Data Input : 200001010011,8,1,0,0_43
200001010111,8,00,0 44

>
0%

Card_Data Input :
200001015511,B,0,961400,0_42
TEAM1_PTS_0_000_007 | 200001015611,M1,961400,1_56 Cal_Metro_Off_transfer()
Terminal_Data Input : 200001015611,B,0,0,0_42
200001015711,M0,0,1_57

nz
o

Card _Data Input :
200001010411,B,0,958600,0_46
TEAM1_PTS_0_000_008 | 200001010511,M,1,958600,1_63 Cal_Metro_Off_transfer()
Terminal_Data Input : 200001010411,B,0,0,0_46
200001010511,M1,0,1_63

nz
o

Card_Data Input :
200001010911,M,1,956850,1_66
TEAM1_PTS_0_000_009 | 200001011011,M0,956850,1_67 Cal_Bus_On_transfer()
Terminal_Data Input : 200001010911,M1,0,1_66
200001011011,M,00,1_67

>
0

Card_Data Input :
200001011211,M,1,955800,1_68
TEAM1_PTS_0_000_010 | 200001011311,M0,955200,3_1 Cal_Bus_On_transfer()
Terminal_Data Input : 200001011211,M1,0,1_68
200001011311,M,0,600,3_1

>
ot

Card Data Input :
200001011011,M,0,956850,1_67
TEAM1_PTS_0_000_011 200001011111,B,1,956850,0_53 Cal_Bus_Off transfer()
Terminal_Data Input : 200001011011,M0,0,1_67
200001011111,B,1,00.53

>
o2t

Card _Data Input :
TEAM1_PTS_0_000_012 Cal_Bus_Off_transfer()
200001011311,M,0,955200,3_1

>
ogt

[E-II A E
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200001011411,B,1,955200,0_57
Terminal_Data Input :
200001011311,M,0,600,3_1
200001011411,8,1,00.57

TEAM1_PTS_0_000_013

Card_Data Input :
200001011511,M,1,955200,1_69
200001011611,M,0955200,1_70

Terminal_Data Input : 200001011511,M1,0,1_69
200001011611,M0,0,1_70

Cal_Metro_On_Standard() &%

TEAM1_PTS_0_000_014

Card Data Input :
200001011511,M1,954150,1_71
200001011711,M,0,954149,2 2
Terminal_Data Input :
200001011511,M,1,1050,1_71
200001011711,M0,1,2_ 2

Cal_Metro_On_Standard() &%

TEAM1_PTS_0_000_015

Card Data Input :
200001012111,M0,952500,4 2
200001013111,M,1,951450,1_74
Terminal_Data Input :
200001012111,M,0,6004_2
200001013111,M1,1050,1_74

Cal_Metro_Off _Standard() A

TEAM1_PTS_0_000_016

Card Data Input :
200001014111,M0,950850,4_3
200001015111,M,1,949800,1_75
Terminal_Data Input :
200001014111,M0,6004_3
200001015111,M1,1050,1_75

Cal_Metro_Off Standard() X%

TEAM1_PTS_0_000_017

Card Data Input :
200001012111,M,0,949600,2_ 2
200001012211,M,1,948550,2 3
Terminal_Data Input :
200001012111,M,0,200,2_2
200001012211,M,1,1050,2_3

Cal_Bus_On_Unchecked() A&

TEAM1_PTS_0_000_018

Card Data Input :
200001012111,B,1,947850,0_59
200001012211,M,1,947250,1_76
Terminal_Data Input :
200001012111,B,1,700,0_59
200001012211,M1,600,1_76

Cal_Bus_On_Unchecked() &%

TEAM1_PTS_0_000_019

Card Data Input :

Cal_Metro_On_Unchecked() A%

EESEY
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200001012111,M,1,948550,2_3
200001012111,B8,1,947850,0_59
Terminal_Data Input :
200001012111,M,1,1050,2_3
200001012111,8,1,700,0 59

Card _Data Input :
200001012111,M,1,947250,1_76
200001015111,B,1,946550,0_60
TEAM1_PTS_0_000_020 _ Cal_Metro_On_Unchecked() &3
Terminal_Data Input :

200001012111,M,1,600,1_76

200001015111,B,1,700,0_60

Data Input : ecd.on_board = 0, ecd.balance =
10000, ecdTerminal ID = 0, ecdtimel =
200001011111, ecdtime2 = 200001011115,
TEAM1_PTS_0_001_000 ecd.c_time = 200001011530, ecd,transportation

cd.time = 200001011530, cd.transportation =
B, cd.on_board = 1, cd.balance = 10000, cd.fee
= 1050, cd.Calculated_Balance = 8950,
= B, ecdtransportation1 = B, ecd.count = 5,
cd.Terminal_ID = 0, cd.count = 1
etd.transportation = B, etdTerminal ID = 0,

etd.count = 1

Data Input : ecd.on_board = 0, ecd.balance =
10000, ecdTerminal ID = 0 ecdtimel =
200001011111, ecdtime2 = 200001011115,
TEAM1_PTS_0_001_001 | ecd.c_time = 201002011530, ecd,transportation | Calculated Data”t A& E|X| &S
= B, ecdtransportation] = B, ecd.count = 5,
etd.transportation = B, etdTerminal ID = 0,
etd.count = 1

Data Input : ecd.on_board = 0, ecd.balance =
8000, ecdTerminal ID = 3, ecdtimel =
200001011115, ecdtime2 = 200001011111,
TEAM1_PTS_0_002_000 ecd.c_time = 200001011530, ecd transportation

cd.time = 200001011530, cd.transportation =
B, cd.on_board = 1, cd.balance = 8000, cd.fee
= 0, cd.Calculated_Balance = 8000,
= M, ecdtransportation1 = M, ecd.count = 4,
cd.Terminal_ID = 0, cd.count = 1
etdtransportation = B, etdTerminal ID = 0,

etd.count = 1

Data Input : ecd.on_board = 0, ecd.balance =
10000, ecdTerminal ID = 3, ecdtimel =
200001011115, ecdtime2 = 200001011111,
TEAM1_PTS_0_003_000 ecd.c_time = 200001021530, ecd transportation

cd.time = 200001021530, cd.transportation =
B, cd.on_board = 1, cd.balance = 10000, cd.fee
= 700, cd.Calculated_Balance = 9300,
= B, ecdtransportation1 = M, ecd.count = 5,
cd.Terminal_ID = 0, cd.count = 1
etdtransportation = B, etdTerminal ID = 0,

etd.count = 1

Data Input : ecd.on_board = 0, ecdbalance = | cd.time = 200001011530, cd.transportation =
10000, ecdTerminal ID = 3, ecdtimel

TEAM1_PTS_0_003_001

B, cd.on_board = 1, cd.balance = 10000, cd.fee
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200001011115, ecdtime2 = 200001011111,
ecd.c_time = 200001011530, ecd,transportation
= M, ecdtransportation1 = M, ecd.count = 5,
etdtransportation = B, etdTerminal ID = 0,

etd.count = 1

= 700, cd.Calculated_Balance = 9300,

cd.Terminal_ID = 0, cd.count = 1

TEAM1_PTS_0_004_000

Data Input : ecd.on_board = 0, ecd.balance =
10000, ecdTerminal ID = 3, ecdtimel =
200001011111,

ecd.c_time = 200001011530, ecd transportation

200001011115, ecdtime2 =

= M ecdtransportation1 = M, ecd.count = 5,
etd.transportation = M etd.Terminal ID = 1,

etd.count = 1

cd.time = 200001011530, cd.transportation =
10000,
8950,

M, cd.on_board = 1, cd.balance =
cd.fee = 1050, cd.Calculated_Balance =

cd.Terminal_ID = 1, cd.count = 1

TEAM1_PTS_0_005_000

Data Input : ecd.on_board = 0, ecd.balance =
10000, ecd.Terminal ID =
200001011115, ecdtime2 =

3 ecdtimel =
200001011111,
ecd.c_time = 200001011530, ecd,transportation
= B, ecdtransportation1 = B, ecd.count = 5,

etd.transportation = M etd.Terminal ID = 1,

etd.count = 1

cd.time = 200001011530, cd.transportation =
M, cd.on_board = 1, 10000,
10000,

cd.balance

cdfee = 0, cd.Calculated_Balance =

cd.Terminal_ID = 1, cd.count = 1

TEAM1_PTS_0_006_000

Data Input : ecd.on_board = 0, ecd.balance =
10000, ecd.Terminal ID =
200001011115, ecdtime2 =

3 ecdtimel =
200001011111,
ecd.c_time = 200001021530, ecd transportation
= B, ecdtransportation1 = B, ecd.count = 5,
etdtransportation = M, etd.TerminalID = 0,

etd.count = 1

cd.time = 200001021530, cd.transportation =
M, cd.on_board = 1, 10000,
9300,

cd.balance =
cd.fee = 700, cd.Calculated_Balance =

cd.Terminal_ID = 1, cd.count = 1

TEAM1_PTS_0_006_001

Data Input : ecd.on_board = 0, ecd.balance =
10000, ecdTerminal ID =
200001011115, ecdtime2 =

3, ecdtimel =
200001011111,
ecd.c_time = 200001011530, ecd transportation
= B, ecdtransportation1 = B, ecd.count = 5,
etd.transportation = M etd.Terminal ID = 0,

etd.count = 1

cd.time = 200001011530, cd.transportation =
M, cd.on_board = 1, 10000,
9300,

cd.balance =
cd.fee = 700, cd.Calculated_Balance =

cd.Terminal_ID = 1, cd.count = 1

TEAM1_PTS_0_007_000

Data Input : ecd.on_board = 1, ecd.balance =
10000, ecdTerminal ID = 0 ecdtimel =
200001011115, ecdtime2 = 200001011111,

ecd.c_time = 200001011530, ecd,transportation

cd.time = 200001011530, cd.transportation =
B, cd.on_board = 0, cd.balance = 10000, cd.fee

= B, ecdtransportation1 = M, ecd.count = 5, = 0 cdCalculated Balance = 10000,
etdtransportation = B, etdTerminal ID = 0, | ¢d-Terminal ID =0, cd.count =1
etd.count = 1
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TEAM1_PTS_0_008_000

Data Input : ecd.on_board = 1, ecd.balance
10000, ecdTerminal ID =
200001010100, ecdtime2 =

3, ecdtimel =
200001010000,
ecd.c_time = 200001012359, ecd,transportation
= B, ecdtransportation1 = M, ecd.count = 5,
etd.transportation = B, etdTerminal ID = 0,

etd.count = 1

cd.time = 200001012359, cd.transportation =
B, cd.on_board = 0, cd.balance = 10000, cd.fee
= 0, cdCalculated_Balance = 10000,

cd.Terminal_ID = 0, cd.count = 1

TEAM1_PTS_0_008_001

Data Input : ecd.on_board = 1, ecd.balance
10000, ecdTerminal ID = 3, ecdtimel =
200001010400, ecdtime2 = 200001010000,
ecd.c_time = 200001012359, ecd transportation
= B, ecdtransportation1 = M, ecd.count = 5,
etdtransportation = B, etdTerminal ID = 0,

etd.count = 1

cd.time = 200001012359, cd.transportation =
B, cd.on_board = 0, cd.balance = 10000, cd.fee
= 100, cd.Calculated_Balance = 9900,

cd.Terminal_ID = 0, cd.count = 1

TEAM1_PTS_0_008_002

Data Input : ecd.on_board = 1, ecd.balance
10000, ecd.Terminal ID =
200001010800, ecdtime2 =

3, ecdtimel =
200001010000,
ecd.c_time = 200001012359, ecd transportation
= B, ecdtransportation1 = M, ecd.count = 5,
etdtransportation = B, etdTerminal ID = 0,

etd.count = 1

cd.time = 200001012359, cd.transportation =
B, cd.on_board = 0, cd.balance = 10000, cd.fee
= 200, cd.Calculated_Balance = 9800,

cd.Terminal_ID = 0, cd.count = 1

TEAM1_PTS_0_008_003

Data Input : ecd.on_board = 1, ecd.balance =
10000, ecd.Terminal ID =
200001012300, ecdtime2 =

3 ecdtimel =
200001010000,
ecd.c_time = 200001012359, ecd,transportation
= B, ecdtransportation1 = M, ecd.count = 5,
etd.transportation = B, etdTerminal ID = 0,

etd.count = 1

cd.time = 200001012359, cd.transportation =
B, cd.on_board = 0, cd.balance = 10000, cd.fee
= 500, cd.Calculated_Balance = 9500,

cd.Terminal_ID = 0, cd.count = 1

TEAM1_PTS_0_009_000

Data Input : ecd.on_board = 1, ecdbalance =

10000, ecdTerminal ID = 4, ecdtimel =
200001011115, ecdtime2 = 200001011117,
ecd.c_time = 200001011530, ecd transportation
= M, ecdtransportation1 = M, ecd.count = 5,
etd.transportation = M etd.Terminal ID = 3,

etd.count = 1

cd.time = 200001011530, cd.transportation =
M, cd.on_board = 10000,
10000,

0, cd.balance

cdfee = 0, cd.Calculated_Balance

cd.Terminal_ID = 3, cd.count = 1

Data Input : ecd.on_board = 1, ecd.balance
10000, ecdTerminal ID = 4 ecdtimel =

cd.time = 200001011530, cd.transportation =

200001011115, ecdtime2 = 200001011111, | M, cd.on_board = 0, cd.balance = 10000,
TEAM1_PTS_0_009_001
ecd.c_time = 200001011530, ecd transportation | cd.fee = 400, cd.Calculated_Balance = 9600,
= M, ecdtransportation1 = M, ecdcount = 5, | cd.Terminal_ID = 2, cd.count = 1
etdtransportation = M, etd.Terminal ID = 2,
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etd.count = 1

TEAM1_PTS_0_009_002

Data Input : ecd.on_board = 1, ecd.balance
10000, ecdTerminal ID = 4, ecdtimel =
200001011115, ecdtime2 = 200001011111,
ecd.c_time = 200001011530, ecd transportation
= M, ecdtransportation1 = M, ecd.count = 5,
etd.transportation = M etd.Terminal ID = 1,

etd.count = 1

cd.time = 200001011530, cd.transportation =
M, 10000,
9400,

cd.on_board = 0, cd.balance =
cd.fee = 600, cd.Calculated_Balance =

cd.Terminal_ID = 1, cd.count = 1

TEAM1_PTS_0_010_000

Data Input : ecd.on_board = 1, ecd.balance
10000, ecdTerminal ID = 1,
200001010100, ecdtime2 =

ecdtimel =
200001010000,
ecd.c_time = 200001012359, ecd transportation
= M ecdtransportation] = B, ecd.count = 5,
etdtransportation = B, etdTerminal ID = 0,
etd.count =1

cd.time = 200001012359, cd.transportation =
M, 10000,
10000,

cd.on_board = 0, cd.balance =
cdfee = 0, cd.Calculated_Balance =

cd.Terminal_ID = 1, cd.count = 1

TEAM1_PTS_0_010_001

Data Input : ecd.on_board = 1, ecdbalance =
10000, ecdTerminal ID = 2, ecdtimel =
200001010100, ecdtime2 = 200001010000,
ecd.c_time = 200001012359, ecd transportation

= M, ecdtransportation1 = B, ecd.count = 5,
etdtransportation = B, etdTerminal ID = 0,

etd.count = 1

cd.time = 200001012359, cd.transportation =
10000,
9700,

M, cd.on_board = 0, cd.balance =

cd.fee = 300, cd.Calculated_Balance =

cd.Terminal_ID = 2, cd.count = 1

TEAM1_PTS_0_010_002

Data Input : ecd.on_board = 1, ecdbalance =
10000, ecd.Terminal ID =
200001010100, ecdtime2 =

3 ecdtimel =
200001010000,
ecd.c_time = 200001012359, ecd,transportation
= M, ecdtransportation1 = B, ecd.count = 5,
etd.transportation = B, etdTerminal ID = 0,

etd.count = 1

cd.time = 200001012359, cd.transportation =
M, cd.on_board = 10000,
9400,

0, cd.balance =
cd.fee = 600, cd.Calculated_Balance =

cd.Terminal_ID = 3, cd.count = 1

Data Input : ecd.on_board = 1, ecd.balance =

10000, ecdTerminal ID = 4, ecdtimel =

200001010100, ecdtime2 = 200001010000,

cd.time = 200001012359, cd.transportation =

M, cd.on_board = 0, cd.balance = 10000,
TEAM1_PTS_0_010_003 | ecd.c_time = 200001012359, ecd transportation
cd.fee = 600, cd.Calculated_Balance = 9400,
= M ecdtransportation] = B, ecd.count = 5,
cd.Terminal_ID = 4, cd.count = 1
etdtransportation = B, etdTerminal ID = 0,
etd.count = 1
TEAM1_PTS_0_011_000 Data Input : hour == 0 && minute == Check_Settlement() &34
TEAM1_PTS_0_011_001 Data Input : hour == 0 && minute != 0 Wait() A&
TEAM1_PTS_0_011_002 Data Input : hour != 0 && minute == Wait() A&t
TEAM1_PTS_0_011_003 Data Input : hour != 0 && minute != 0 Wait() AeH
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Data Input cd.Calculated_Balance = | Terminal_Record(), Print_Result(), Check_Card()
TEAM1_PTS_0_011_004 N
3000 A
Data Input cd.Calculated_Balance = N
TEAM1_PTS_0_011_005 Print_Warning() &3
-1000
Data Input : &4t 2E2E|QUCHE oY &
TEAM1_PTS_0_012_000 3 rad.reset = 1
Data Input : G4t 2A2E|QJCH= oY =
TEAM1_PTS_0_012_001 rad.reset = 0
AWstx| g
Data Input : cd.time = 201411210500,
pd.time = 201411210500, pd.transportation =
cd.transportation = B, cd.on_board = 1,
TEAM1_PTS_0_013_000 B, pdon_board = 1, pdfee = 500,
cdfee = 500, cd.TerminalLID = 0,
pd.Terminal_ID = 0, pd.count = 2
cd.count = 2
Data Input : cd.time = 201411210530, ) )
pd.time = 201411210530, pd.transportation =
cd.transportation = M, cd.on_board = 0,
TEAM1_PTS_0_013_001 M, pdon_board = 0, pdfee = 500,
cdfee = 500, cd.TerminalLID = 3,
pd.Terminal_ID = 3, pd.count = 1
cd.count =1
Data  Input cdfee = 100, | fee = 100
TEAM1_PTS_0_014_000
cd.Calculated_Balance = 500 Balance = 500
Data  Input cdfee = 200,
TEAM1_PTS_0_014_001 Display Data & |X| &S
cd.Calculated_Balance = -100
Data Input cd.fee = 250,
TEAM1_PTS_0_015_000 Display Data - |X| &%
cd.Calculated_Balance = 400
Data  Input cdfee = 300, N
TEAM1_PTS_0_015_001 Zhotto] EFtL|Ct
cd.Calculated_Balance = -200
Data Input : cd.time = 201411210500,

TEAM1_PTS_0_016_000

cd.transportation = B, cd.on_board = 1,
cd.Calculated_Balance = 0,

cd.Terminal_ID = 0, cd.count = 3;

ucd.time = 201411210500, ucd.transportation

= B, ucdon_board = 1, ucd.balance= 0,

ucd.Terminal_ID = 0, ucd.count = 3;

TEAM1_PTS_0_016_001

cd.time = 201411210500,

B, cd.on_board = 1,

Data Input :

cd.transportation =

Updated Card Data M4 E|X| %S

o o

cd.Calculated_Balance = -1600,
cd.Terminal_ID = 0, cd.count = 3;
TEAM1_PTS_1_000_000 | time = “201411200000" Input
TEAM1_PTS_1_000_001 | time = “201411200100" Input
TEAMT_PTS_1.000_002 | time = “201411200008" Input
TEAM1_PTS_1.000_003 | time = “201411200108" Input
TEAM1_PTS_1_001_.000 | Enable Input Hold=true(1) Output
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TEAM1_PTS_1_001_001

Disable Input

Hold=false(0) Output

TEAM1_PTS_1_002_000

trigger ,

Stack ED={

201411200008, M, 1, 1050
201411200124, M, 0, 400
201411200400, B, 1, 1050
201411200440, B, 0, 0
201411200600, B, 1, 1050
201411200800, B, 0, 0 } Input

SF ={
201411200800, 201411200124, 2100, 1400
}Output

TEAM1_PTS_1_002_001

trigger ,

Stack ED={

201411200008, M, 1, 1050
201411200124, M, 0, 400
201411200400, B, 1, 1050
201411200440, B, 0, 0
201411200504, M, 1, 0
201411200600, M, 0, 300} Input

SF ={
201411200440, 201411200600, 591, 2209
}Output

TEAM1_PTS_1_002_002

trigger ,

Stack ED={

201411200400, B, 1, 1050
201411200440, B, 0, 0
201411200504, M, 1, 0
201411200600, M, 0, 300
201411200640, B, 1, 0
201411201448, B, 0, 200} Input

SF ={
201411201448, 201411200600, 976, 574
}Output

TEAM1_PTS_1_002_003

trigger ,

Stack ED={ 201411200016, M, 1, 1050
201411200040, M, 0, 200
201411200232, B, 1, 0
201411201224, B, 0, 200
201411201400, M, 1, 0
201411201408, M, 0, 600
201411201416, B, 1, 0
201411201824, B, 0, 200} Input

SF ={
201411201824, 201411201408, 1042, 1408
}Output

TEAM1_PTS_1_002_004

trigger ,

Stack ED={

201411200016, B, 1, 1050
201411200216, B, 0,0
201411200616, B, 1, 1050
201411200624, B, 0, 0
201411200632, B, 1, 1050
201411200640, B, 0, O} Input

SF ={
201411200640, NULL, 3150, NULL
}Output

TEAM1_PTS_1_002_005

trigger ,

Stack ED={

201411200016, M, 1, 1050
201411200216, M, 0,0
201411200616, M, 1, 1050
201411200624, M, 0, 0
201411200632, M, 1, 1050
201411200640, M, 0O, 0} Input

SF ={
NULL, 201411200640, NULL, 3150
}Output

TEAM1_PTS_1_002_006

trigger ,

SF = {

EESEY
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Stack ED={
201411200008, M, 1, 1050
201411200124, M, 0, 400 201411200440, 201411200504, 1050, 1450
201411200400, B, 1, 1050 }JOutput
201411200440, B, 0, 0
201411200504, M, 1, 0} Input
trigger ,
Stack ED={
201411200400, B, 1, 1050 SF = {
TEAM1_PTS_1.002_ 007 | 201411200440, B, 0, 0 201411200640, 201411200600, 591, 759
201411200504, M, 1, 0 }Output
201411200600, M, 0, 300
201411200640, B, 1, 0} Input
trigger ,
Stack ED={
201411200016, M, 1, 1050
201411200040, M, 0, 200 SF = {
TEAM1_PTS_1_.002_008 | 201411200232, B, 1,0 201411201416, 201411201408, 907, 1143
201411201224, B, 0 200 }Output
201411201400, M, 1, 0
201411201408, M, 0, 600
201411201416, B, 1, 0} Input
trigger ,
Stack ED={ SF ={
TEAM1_PTS_1_.002_009 | 201411201010, M, 1, 1050 201411201030, 201411201010, 1750, 1050
201411201020, B, 1, 1750 }Output
201411201030, B, 0, 0} Input
trigger ,
Stack ED={
201411201010, M, 1, 1050 SF=1
TEAM1_PTS_1_002_010 o 201411201020, 201411201040, 1750, 2800
201411201020, B, 1, 1750
}Output
201411201030, M, 1, 1750
201411201040, M, 0, 0} Input
trigger ,
Stack ED={
201411201010, M, 1, 1050 SF = {
TEAM1_PTS_1.002 011 | 201411201020, B, 1, 1750 201411201050, 201411201030, 3500, 2800
201411201030, M, 1, 1750 }Output
201411201040, B, 1, 1750
201411201050, B, 0, 0 } Input
trigger ,
Stack ED={
201411201010, M, 1, 1050 SF = {
TEAM1_PTS_1.002.012 | 201411201020, B, 1, 1750 201411201030, 201411201058, 1157, 1943
201411201030, B, 0, 0 }JOutput
201411201050, M, 1, 0
201411201058, M, 0, 300} Input
trigger , SF = |
TEAM1_PTS_1_002_013 Stack ED={ 201411201130, 201411201040, 2444, 2406
201411201010, M, 1, 1050
}Output
201411201020, B, 1, 1750
[HAE Q=) Team 1
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201411201030, M, 1, 1750
201411201040, M, 0, 300
201411201100, B, 1, 0
201411201130, B, 0, 0} Input

TEAM1_PTS_1_002_014

trigger ,

Stack ED={

201411201000, M, 1, 1050
201411201030, M, 0, 400
201411201100, B, 1, 0
201411201200, M, 1, 1750} Input

SF ={
201411201100, 201411201200, 609, 2591
}Output

2.3 Input specifications

<Table 2 : Test Design Identification> &=
24  Output specifications

<Table 2 : Test Design Identification> &

Environmental needs

[2014_SE_B][T1]JUTP_ Ver1.0, 9 Enviromental needs &=

Unit test summary report
41  Test summary report identifier
<Table 1 : Test Design Identification> &Z&

4.2  Evaluation

[HAE 2E] Team 1
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